[ Efficiency vs vertpos |

= 0.05
045
2

20.04
035
)

£0.03
025
0.02
015

%
D
0
0

0

Ratio

Efficiend

N

$0.09
(2]
>0.08
>
2
§0.07
o
£0.06
(]
0.05
0.04

Ratio

.005
10

0.01

|||L!.u.u.!.u.lg.!.l.l.l.l.!.l.ul!||||!||||!||||!||||L||||

-+ :
+ .
............... -
doaadnd ] L
H Hhs -
I B -
1 B e s
-

0.9d
1072

1

10 0?
TP vertr (cr%)

<4

MKEIT_T1base
mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
mkFit_TT_baseline_6iter
mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch4

0.1

0.03
0.02
0.0

...........

...........

...........

.....

.............

..........

..

...............

................

................

Vs

[y

0.95!

[ Efficiency vs. sim PV

N
>
o

Sim

[
>

efficiency

Ratio

10 20 30
TP vert z (cm)

0.5
0.45
0.4
0.35

o
w

0.25

©
N

0.15

0.05]

.....................................

.................................

..........

.........

..........

o

iy

0.95

o

©

r

P o

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


